## **CURRICULUM COMPENSATION**

I RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL DATA DAY ACTIVITIES MARCH 16, 2022, \$32.26 PER HOUR, 1 HOUR FOR A TOTAL OF \$32.26 EACH: (10-2210-0000-1341-531-2)

Drennan, Emily Johnson, Kassandra Kent, Kyle

II RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES MARCH 16, 2022, \$32.26 PER HOUR, 1 HOUR FOR A TOTAL OF \$32.26 EACH: (10-2210-0000-1341-531-2)

Baldin, Jennifer

Punke, Lindsay

Moore, Lori

III RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL SCIENCE BACKWARDS PLANNING MARCH 16, 2022, \$32.26 PER HOUR, 2 HOURS FOR A TOTAL OF \$64.52 EACH: (10-2210-0000-1341-531-2)

Biggs, Brian Johnson, Gay
Coleman, Justin Moore, Lindsey
Cruthis, Douglas

IV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR CTE CURRICULUM WORK AND LAB ACTIVITIES OCTOBER 25, 2021 THROUGH MARCH 18, 2022, \$32.26 PER HOUR: (10-2210-6421-1341-252-2)

Devlin, Karri	24.00 hours	\$774.24
Dirksen, Abbey	30.00 hours	967.80
Hagerman, Justin	10.00 hours	322.60
Hopper, Linda	8.00 hours	258.08
Krummrich, Patricia	8.00 hours	258.08
Lamsargis, Matthew	10.00 hours	322.60
Laub, Jill	42.00 hours	1,354.92
Morrison, Alexis	10.00 hours	322.60
Moscardelli, Abigail	8.00 hours	258.08
Shafer, Liana	8.00 hours	258.08
Smoot, Kimberly	8.00 hours	258.08
Sutera, Joseph	8.00 hours	258.08
Winders, Scott	42.00 hours	1,354.92

V RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES CPI INSTRUCTIONAL ACTIVITIES JANUARY 25 THROUGH MARCH 15, 2022, \$32.26 PER HOUR: (10-1200-6220-1165-000-0)

Dwyer, Rachael	16.00 hours	\$516.16
Epley, Karen	4.00 hours	129.04
Jordan, Laura	8.00 hours	258.08

VI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES SLP LANGUAGE SAMPLE PLANNING ACTIVITIES MARCH 9, 2022, \$32.26 PER HOUR, 2 HOURS FOR A TOTAL OF \$64.52 EACH: (10-2210-6220-1342-000-0)

Deatherage, Debra

Mowen, Lindsay

Giacomini-Fay, Lisa

VII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EARLY START INCLUSION LEADERSHIP PROJECT FEBRUARY 15, 2022, \$32.26 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$48.39 EACH: (10-2210-6431-1341-481-2)

Haage, Leanne Kieffer, Shelley
Justison, Mildred Servough, Carrie
Kaesebier, Therese Wisecup, Melinda

VIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EARLY START COACHING WITH INSTRUCTIONAL LEADERS AFTER HOURS MARCH 8 THROUGH MARCH 9, 2022, \$32.26 PER HOUR: (10-2210-6431-1341-481-2)

Becker, Brooke	0.50 hours	\$16.13	
Kieffer, Shelley	1.00 hours	32.26	
Servough, Carrie	0.50 hours	16.13	

IX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EARLY START INCLUSION LEADERSHIP TEAM MEETING MARCH 1, 2022, \$32.26 PER HOUR, 1.75 HOURS FOR A TOTAL OF \$56.46 EACH: (10-2210-6431-1341-481-2)

Haage, Leanne Servough, Carrie
Justison, Mildred Tolsdorf, Kathleen
Kaesebier, Therese Watt-Brennan, Janine
Kieffer, Shelley Wisecup, Melinda

X RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EARLY START PORTFOLIO HOURS FEBRUARY 9 THROUGH FEBRUARY 15, 2022, \$32.26 PER HOUR, 4 HOURS FOR A TOTAL OF \$129.04 EACH: (10-2210-6431-1341-481-2)

Ahiable, Esene Lacamera, Kathryn

Becker, Brooke Loken, Susan Burk, Jennifer Mahinda, Stacy Duffy, Debora Nestler, Tena Ferry, Audra Purdy, Patricia Fuhrmann, Mary Servough, Carrie Gray, Nicole Simmons, Sara Haschemeyer, Kaycee Smith, Janette Hunter, Rachel Ziccarelli, Andrea

Justison, Mildred

XI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR IMSA AFTER SCHOOL PROGRAM ACTIVITIES MARCH 29, 2022, \$32.26 PER HOUR, 1.75 HOURS FOR A TOTAL OF \$56.46 EACH: (10-2210-0901-1341-000-0)

Horstman, Laura

Moore, Lindsey

XII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR IMSA AFTER SCHOOL PROGRAM ACTIVITIES MARCH 15, 2022, \$32.26 PER HOUR, 1.75 HOURS FOR A TOTAL OF \$56.46 EACH: (10-2210-0901-1341-000-0)

Horstman, Laura

Moore, Lindsey

XIII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR STUDENT SUPPORT SERVICES CPI INSTRUCTIONAL ACTIVITIES JANUARY 20 THROUGH MARCH 15, 2022, FOR RATE SPECIFIED: (10-1200-6220-1165-000-0)

 Johnson, Kathy
 12.00 hours
 \$45.36 per hour
 \$544.32

 Logsdon, II, Thomas
 5.00 hours
 \$19.29 per hour
 \$96.45

 Logsdon, II, Thomas
 3.00 hours
 \$28.94 per hour
 \$86.82

XIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR TITLE I NON-PUBLIC INTERVENTION ACTIVITIES MARCH 8 THROUGH MARCH 16, 2022, \$32.26 PER HOUR, 26 HOURS FOR A TOTAL OF \$838.76: (10-3700-0000-1243-531-2)

Lamsargis, Kathy

XV RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR EARLY START INCLUSION LEADERSHIP TEAM MEETING MARCH 1, 2022, FOR RATE SPECIFIED: (10-2210-6431-1360-481-2)

Ellenz, Michelle 1.75 hours \$16.42 per hour \$28.74 Rockford, Jean 1.75 hours \$26.75 per hour \$46.81

XVI RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR EARLY START INCLUSION LEADERSHIP PROJECT FEBRUARY 15, 2022, FOR RATE SPECIFIED: (10-2210-6431-1360-481-2)

Ellenz, Michelle 1.50 hours \$16.42 per hour \$24.63 Rockford, Jean 1.50 hours \$26.75 per hour \$40.13

XVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MCCLERNAND ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES FEBRUARY 28 THROUGH MARCH 10, 2022, \$32.26 PER HOUR: (10-2210-0000-1341-531-2)

Damery, Brent	2.00 hours	\$64.52
Dill-Prusak, Megan	3.00 hours	96.78
Harris, Hannah	3.00 hours	96.78
Jones, Terwanna	3.00 hours	96.78
Lightfoot, Stephanie	2.75 hours	88.72
Noll, Meghan	2.75 hours	88.72
Pettis, Jessica	3.00 hours	96.78
Schurman, Jennifer	2.00 hours	64.52
Stephens, Catherine	3.00 hours	96.78
Travis, Michelle	3.00 hours	96.78